Name: KE‘,
November 3, 2016
MAC 2313.9728
Cyr

Quiz 10
You must show all work to receive full credit!!
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Problem 1. (5 points) Use polar coordinates to evaluate / / Ei >
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{(z,y)|1 < 2?4+ 9y* <9} .
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Problem 2. (5 points) Evaluate / / / (x — y)dV, where E is enclosed by the surfaces
E -

z2=y*~1,2=1—9% =0, and x = 1.

J

dA, where D =

7

N
\

Thterseet A %j?-.h| = | _-3'2 = 9\.\& -
"':-f):j'it} So
Vﬁ j | Yiﬂal(}(* ) dzolydy = f f
Yo o J %'1;1 J J o 3

3
—

I\
C....-r-"‘}
O —
w e
la
Q-
e
n
s
7
o
o _
|

N

5

X



